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¥ Who was the first Law Minister of Independent India?
(A)© Nehru ) Ambedkar
(C) Madan Mohan Malaviya . (D) Sardar Vallabhai Patel

&5HET @BHLTENET 1PS FLL SHEOESFT WTT?
A) Cmm B) <wGusgsmr

(C)  wsger Gomrger wmemeluim D). e eudeumi LGL e

& \?&; Regulating Act provided for the establishment of a Supreme Court at
’A)  Fort William (B) Fort St. David
(C)  Fort St. George (D) Fort Jinjee

RUEG WPDE s LD 2 F& BHapid 6T QL SHle DemwésiL[Bib eTand s plug)?

(A  eelwb Camlen B) yeils CLeil Cam_enL
©) yails gt Cam_enL (D) Qesepd CamienL -
3 In Koppen’s Climatic classification ‘Af’ refers to the climate of

(A). Tropical wet and dry :
) Tropical wet _ ; ! i

(C) Tropical monsoon
(D) Subtropical Steppe

Gamtiuafler sreflome cuamsiium_ige ‘Af’ ererm @HlLGHD asrrsuﬁm@ UMS
(A) SWETDEITL FFJ LHMILD GMHETL

B) w6 FFLUILS -

(C) SwanDETL 6 LI(HeUSSTHM

D) 2u wea@e 6L

4. The delta of which river is known as Sundal;‘b:?glta?
(A) Cauvery ) Ganga
(C) Narmada (D) Godavari

erppdudar QUL T shsTLTE QLT erammepssiLBEng?
A)  srelifl B) smms
(C) pwag (D) GCarzmeu

c ' 3 SCGS/18
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5. TheMargest ¢oral reef in the world is found near the coast of

A)  Austrelia 2 CR) Quba
(C)  Ghane (D) . Philippines
‘ i 4
2 adler Wlsltiufu Leuer Lrenp sTETILEL SLhHamy UGS
Q) adlSrellw sLpasamiy B) dyurs_psamy
(C) sremeLpsany ' (D) Gellbieuenav sL_pHaey

6. Which Act curbed the freedom of publication?
(A)  Indian Universities Act J

: |
\}()‘ Official Secrets Act : 5 . |

(C)  Counels Act of 1892
(D)  Vernacular Press Act

CThH EI'_L_Lb ug SiNsms sspdrsms s Qsliss?
@)  QpHu LIOSMAEHSBIGET &1L LD

B ageﬁwas T&SW &_L1b

©)  opdu seyandled g1 1b 1892

D)  srwQumd usdNéms s Lib

;o Which of ‘J'ollowing languages < were inserted ,in the Eighth Schedule by the
92 Constitutional Amendment Act of 2003?

(A)  Konkaai, Maithili, Santhali, Dogri J

(B)  Bodo, Dogri, Santhali, Nepali - ' |
Bodo, Dogri, Maithﬂi, Santhali j |

(D)  Kashmiri, Manipuri, Urdu, Sindhi

2003-1b ngaf&i%i) Gaream® euriul L 92-eugl Sirfluaenioiy L SlmEs55 6 Qpembrra; T L_meug,)

<L euemanrudlsh @eventéaiuL L Qa6 eraneu?

&) Qs ewdd, sthsme, GLréaf

B)  CunGur, CLré, smbged, (Sg,ur.mrﬂ

(C)  GunGur, GLré, emwdel), smHgmad

D) smegiSi, wenflliy, SRGETNLES

SCGS/18 | ' 4 : e



8.

The present system of recruitment to higher civil services in India is based on the

recommendations of which of the following committees/commissions?

L

2.

(B)
©
@)

Sathish Chandra Committee
Lee Commission

Kothari Committee
Aitchison Cofnmission
Macaulay Committee

1" 8sand"H

1 and 3

1,3,4and 5

3 only

@rdureiles  sHCuremsw  Gyeowluefl U Cerldpemer

G(PESHET/ DEHERTUIMBISET GTENGU?

?—l

)
(®B)
©)

@)

sbeiy sHATT GW

65 <,EMETILILD
Canggmil @0:9.
9|L_SlF6r eI
Qmésasrr(‘éé)

‘1, 3 wHmibd 5

1 pmibd 3

1, 3, 4 wHmid 5

3 L (HLd

(PEmEn

ufipgieny  Qawls
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9. The institution of Lok ayuktha was created first in Maharashtra in

(A) 1970 B) 1972
© 1973 O 1971
4
Card pUEST S0l STITeYqFTeld PSET WPSOTS 2 (HEUTESILIL L 6 ()
(4) 1970 (B) 1972
(C) 1973 (D) 1971

10.  The Chief Election Commisgioner is appointed by whom?
(A) Parliament . :
(B)  Minister of Parliamentary Affairs ' ' : {
C) Presidént
(D)  Chief Ministers of all states

senaenlo GG D penamrliT wWmymed ﬁmﬂé;a;ﬂu@é]mm’r? | ;
(A)  umyTE seTpLd |

B) | L:rrurr@ et eSleusTrsgenm é{GU)LDcE'F‘&fT

©)  EywrE smoeuir

D)  omangs wrho weaeamwésiger

11.  The annual report of the Comptrollér and Auditor General of India is scrutinized in detail by
\A)' Public Accounts Committee
(B) Estimate Committee
©) Consﬁl ;ative Committee on expenditure ' |

(D)  Select (Committee on expenditure

L BDO® D HETES LHDILD S &ans é@&;mﬂuﬂm UMLTHST DAPléEms eThs @eler < uelnE
SA@tuiu®Gél g ? )

A)  Qurg sansEs GW

B)  wHuS 66 6w

(C) Qoweiars a;a)jgg,ﬁuhmé; &P

D) Ceweiamsessarar Coirays G

1
SCGS/18 ‘ 6 » e 3
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12.

During the‘Muhél period, the officer in charge of,the Naval boats was called
(A)  Mir-e-Atish \/6); Mir-e-Bahar

(C) Bandukchi Sy ' (D) Gazi

pasruiT 8 srasHd stupuemL uL Gsefler QurpiumerT

Q) Or-g-9dey , B) Bir-g-ursr

©) ueangss D) s

Baba Ram Singh (B) Balak singh

1135 V? founded the Namdhar is movement?
)

14.

15.

(C)  Guru Gobind Singh " (D) Guru Nanak

Brbsmh @Qusssamss CamHmelgseui wimi?
(A) umumgmd S B) ures fm
©) & Candps sk D) ©pras

The first European who declared that there existed a definite relation between Sanskrit and
some of the principal languages of Europe was '

(A)  Sir William Jones B) P.Giles
)  Fillippo Sassetti (D) Alexandar Canningham

wsaremowrer gy Qumfsdr HoawpnseE soavdms GurbluyLer sargluns Cgmiy
o drang) erand gadlw (pse gCrmindwi
A) 7 efldelwib Ggmeman (B) P. dlevev

©) QOLCGuT sT@l& 1 D) <QasevraTL T seraflBsTD

The original Jain religious texts were called
A) Agam - (B) Puram
(C) Story (D) Song

<D|FED FLOGWT FLOWI HICSET 6TEUGTM) SEDLPESLILIL LG
A)  osb B) ymw
©) sms v D) url®

7 _ SCGS/18
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16.  Match the fol owing with suitable options in List I and List IT :
List I List IT
(Acadenﬁ y) (Year)

(a) Sangeet Natak Academy 1 1957

(b) Lalit Kela Academy 2. . 1959

(¢) National School of Drama 3. 1954

(d) National Book Trust of India 4. 1953

@ b © (@
.,()4 R

3 1 2
B) 2 4 8 1
© 1 2 4 3
(D) ‘8 1 2 4

Qemmaupaiaraipmiar L g wed I iopmib L iywed IT g Qurmsgis.

L iquied [ U iquied IT
(i) (<yer(h)
(a) om&s B _& sepL 1. 1957
(b)  @ellg s@m sLmb 2. 1959
(© Csflw pis usref 3. 1954
(d) GCsplw B ueniiéd spstb 4. 1953

(& b © @

(A) 4 B 1 2
®B) 2 1 3 1
& 1 0 4 3
D) 3 2 4

17.° Aand B together can do a piece of work in 8 days, but A alone can do it 12 days. How many
‘dfas would B alone take to do the same work in
A)

24 days (B) 12 days
(C) 16 days (D) 18 days

@ Geuanaentt A B @meumw Ceibg 8 Brsefldd @i Ciui. A i Hid SjeuCauemaen 12 (r_r;rn_a;mﬂm
iUt B oi_ (o seuGaumamu 1pig &8 ar(ég)s Q&rmaT(EnLD BT a6

A) 24 prieer : (B) 12 priser

(C) 16 pmieer (D) 18 priser

SCGS/18 il | e




18. The graphical representation of a frequency distribution is given below :

307
251

207
157
10

—> Articles

10 15 20 25 30 35 40
—> Age Groups

Which pair of the following pairs of classes have equal number of articles?

(A) 10to 15 and 15 to 20

‘)@f 10 to 15 and 35 to 40

(©) 15 to 20 and 25 to 30
(D) 20 to 25 and 35 to 40

BlapEeuer ureuae LweTL R S cuanguL b SC& GHMNAL UL HaTersy.

- 307
254

201
151
10

—> QummeTsar

10 15 20 25° 30 35 40
—> auwg @en_GQeuafl

CuCe Qar@ssiul@eaereupiled ebg aiwg Gl Qeuall GCmmg  gwwmen

QurpLsemer Qgmesr(Harere?
(A) 10 @psev 15 womib 15 apged 20
(B) 10 @pse 15 wpmid 35 wpge 40

(©C) 15 wpse 20 wHmid 25 s 30
D) 20 @psed. 25 wHmId 35 apge 40

GTeTem Sen&udled

SCGS/18
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19. Simplify :

(3/8)° x (3/8)* =(3/8)°

A 2 B) 1/2

© 3 \Aﬁ; 1

&(H&ES.

(3/8)° x(3/8)" +(3/8)°

@ 2 | ®) 1/2

© 3 : D) 1
20.  Simplify :

270 : 378 ¥

ﬁ) BT

B) . 135:139

(C) 45 :68

M) 10:14

270 : 378 pF&im&Es.

A 57
B) 135 : 139
(C) 45:63
D) 10:14
205 The radius of a sector is 42 cm and its sector angle is 60°. Find its perimeter.
A) 128 cm. (B) 44cm
(C) 88cm D) 126 cm

@M LG l(ia;rrcmuu@ﬁuﬁlsin <Td 42 cm wHmid ger ewwd Csmawrid 60° erafled sigen
GDHDETENCUE SN GHTd.

A) 128 cm | (B) 44cm

(C) 88cm , (D) 126 cm

SCGS/18 ' 10 =



22.

23.

24.

(B)
\/C) 81 cm

A and B together can complete a piece of work in 20 days and B alone in 30 days. In how
many days can A alone complete the work?

A) 60 (B) 50

(C) 10 D) 45

A oppd B fCunt @aanss @m Camamwu 20 praflgid wHgn B wl (b saflurs <Cs
Couanevenws 30 mrrctﬂgmo eptium erafld A wl G gaflurs 2ipgs Coumamw assman prafd

APIg LI ? ,
(4) 60 ®B) 50
© 10 ' ' D) 45

In how many years will simple interest on Rs. 2500 at the rate 3% per annum be equal to.the
simple interest on Rs. 1500 in 5 yr at the rate of 7% per annum?

A byr : "(B) 6yr

\/@ Tyr : (D) 8yr

epumi 25006@ 3% el el gé@ safl el lguiled eu(mHD anmaum mumi 1,500-&@ 5 eu@pLLd
7% (@i HéE eu(HLD N6l g Wib FLoLd eremmmeD, Qwrss e ereuaiera;) '

@) 5 e B) 6
©) 7 @@ (D) 8 =ya()

’

- The height of a tree increases every year 1/8 times. If the present height of the tree is 64 cm

then what will be the height after 2 years?
(A) 76cm
80 cm

(D) None of the above

@O wwreng yarhéEG 1/8 wimE e wrordngl. sHCuNg <ibs wrsHer o wgb 64 Qaatmig 5L
arailed 2 UL SHNE 19D AbHS LFSSer 2 WL ereueuaTans B mEGD?

(A) 76 Qa8
(B) 80 Qs.8
(C) 81G&s.8

D) Qe qgu_é’l_ei)eo)eu

11 SCGS/18
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25. - Given below a‘e two series with specific pattern

2| 9 | 30| 105|436 | 2195
3|@[Mb)] @ | @ | ©

What will come in place of (c)?
(A) 106 : : A 111

(C) 109 ' ‘ (D) 108

8Cp Qan@&st Ll L, GHIGLL 2 SSlsEL 6 sigu @) QgrLirsefa, (c)-6r UL wrg?

2| 9 | 30| 105 | 436 | 2195
3|@|M®| @ | @ @

(@A) 106 ' (B) 111
(©) 109 ' : (D) 108
26. IfA’s monthli’ income is 40% more than that of B. How much percentAis B's income less than
that of A?
(A)/'ZS%% ®) 27%‘% R |
© 25%% D) 24%%

A Wérn wrg ai meuremd B e 1org auoraigas el 40% sifsb. aarGes A 96T LOMSEU(HLOMETEHENS
el B uQ6ir 100 & 6u(HLOTEITLD GTeUeUeTay GEnDay?

@A) 282% ®B) 272%
7 7
© 2% ® 245%

27. Rahul borroved Rs. 4,000 on 7t of June 2006. and Returned it on 19* August 2006. Find
amount he paid, if the interest is calculated at 5% per annum

(A) Rs. 4,000 . ( Rs. 3,500

(©)  Rs. 4,200 ; ) Rs. 4,040

gr@e 7.6.206 <enmy ep. 4,000 sLamman Qupm <ieng 19.8.2006 <jemm SHmou G&@Jgﬁmnn
5% eul_lg ST S LILL LT Sauit QegusHu Qgrens ereuciere,?

A) @ 4,000 - B)  ¢m.3,500
) @ 4,200 D) 4,040

SCGS/18 12 : ' ¢




28. ybonded labour system was abolished in India from
A)  25th October 1975

(B) 25th November 1976
(C) 25th November 1977
(D) 25%h November 1978

@Qngwuredle Qarssiqeand wpenm @LOl&SEILLL BreT
A 25 956Lmur 1975

(B) 25 peutbuiit 1976

(C) - 25 peubur 1977

D) 25 paubLi 1978

29. The 20 — Point Programme was introduced in India is
A July 1975 N B) July - 1976
(C)  August—1975 (D) August— 1976

@pglumeiied 20 obFSHLL1b PlpsILHSSILIL L a0 ([H

A) 99me-1975 B) 99me-1976

©) <sevl—1975 D) <ysev—1976

30. The monthly average wholesale prices Index number is the 2011 — 12 is

[as base 2004-05 = 100]

‘A 156.1 (B) 143.3

(C) 130.8 (D) 116.6

wrerhdy sprafl Qwrss elpuamer ellene @M reg

QmhHsg [2004-05 = 100 g liueL <pem{H]
(A) 156.1 , (B) 143.3
C) 130.8 ) 1166

= 13

<25 2011-126

SCGS/18
[Turn over



31. In normal pefs.ons, the blood plasma will not contain this ion.
A)  Mercury ¥ (B) Sodium
(C) Calcium. (D) Magnesium

Cpmuppeuflen {Arss Wermaviomedler Qbs <weal srearliuLrg).

Q) OQuigfl | ‘(B) Gsmgiid
©)  srédlul oy D) Quéeffuid
32.  Ppegesterone hormone is secreted by

(A) Corpus luteum
(B) Pituita y gland
(C) Pineal gland
(D) Placenta

LCrm@sgenL g e anmiCLomen & TS|
(A)  &miTuey ILigwib

B) Gyt M s&rind

©) Yelwe &y

D) smi-Crl Qeventii Ha

33.  Energy centre of a sperm is
A)  Middle piece (B) Head
(C)  Tail B (D) Entire Sperm

@ ellbg CFa Nlem DM ewibors @mULg
@A) phuuEd B) sow®

C)  euméd D)  ww dbs

SCGS/18 : 14



35.

The cell wall formation begins at the telophage stage ‘of the cell division fine granular
structure called as -
(A) Plasma desmata : K) Phragmoplast
(C) Symplast . . (D) Apo plast
Qeed Feum 2 (HeumEh @ur}@ m@wn(ﬁug;ﬁmmuﬁleb G uELueLub Curg Csremmb &miwe
Guremp jenwliha
(A)  Qermeviom QLevGlol L B) QyrsCGumermevr_
(C)  Ab\ermev D)  Cur Qarmavr
Select correctly matched pairs :
1. Mercury - Cinna}bar
2. Aluminium - Bauxite
3. Titanium °~ — Limonite
4. Iron — Heamatite
A 1,2,3and4
B) 2,3and4
;46 1, 2 and 4
(D)  1,2and 3
Geteu(md sflwimes QUITBHSSILL L QenamTanws Camib 05 (H &
1. Qg —  Sewerumi
2. ogufielubd — ursmsL
3. eLlimaflubd — eSIGorear
4. . @mby - — Gamwent_L_
(A) ' 1, 2, 3 wHmid 4
B) 2,3 wpmbd 4 A
©) 1,2 wppb 4
D). 1 2uoppin's
15 - SCGS/18
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36.' Mature graffian follicle is generally present in the ovary of healthy human female around

(A) 5 -— 8 dars of menstrual cycle

\A 11 — 17 days of menstrual cycle
(©) 13 — 23 lays of menstrual cycle
(D) 24 — 28 lays of menstrual cycle
WETHS &L I HieTeRTenn Qurrg,jeurra; @ %Gr;rra;aﬁ]mmrrm Quasenfludlen &(mLienLIudled Grgyg_smm
BIeT @HS@GD?
A)  wrgelluini spnSHufer 5— 8 pmer
B)  wrgellini spHHufer 11 - 17 prer
(©) wrseflini &gpg')é]uﬁlelm 18 — 23 pmar
D)  wrsefini swphAulder 24 — 28 prréh

37.  What type of satellite is SCATSAT-1 which was launched by (PSLV C35)?

(A)
®)
©

)

Geo — Stationary
Navigation
Communication

Meteorological

PSLV C35 epeid gautiu L SCATSAT-1 erergnib Qewihensé Gamar TS euamsamul Cabsgl?

(A)
®B)
©)
@)

yeldflanv sHmiiures
oar(H(m@ &
seaue klgmiiy

euratlan v ey

38.  Which year, Lolly the sheep was born, the first mammal to be cloned from an adult cell?

A) 1994 : B) 1995
) 1996 (D) 1997
epsrangwmian CGaaeled mng LigQui B apenmuiled o (Heurdsil L @g,eu urr@m_tq_ eflemig, CLmed
aendlp 56 b er® ergi?
(A 1994 B ' (B) 1995
(C) 1996 (y" 1997
SCGS/18 16 ' -
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39.

40.

A

Match List I with List IT and answer through the code given below :

List I List IT

(a) (b) (©) (d)

A) 2 3 4 1
®B) 3 1 4 2
© 2 4 1 3

3 4 1 2

(a) P.V.Sindu 1. Wrestler

(b) Marykom 2 Javelin throw

(¢) Sakshi Malik 5 Badminton
*(d) Neeraj Chopra 4. Boxer

L igwie I -6 o erereupenm L iquieh II-Qen Gl Qar@ésiiuL @ erer &P B 6T epartd Qummss)s

ULt T Ui IT
(@) 19.69. g 1. wewyssd
(b) CGuwAGsmd 2. mlyg erhgad
() srsad) wradls 3. GuiiSerer
(d) By Gemiupm 4. GssIsETEOL

(a) (b) (© (d)

A) 2 3 4 §
B) 3 1 4 2
©) 2 4 1 3
D) 3 4 i 2

In which country, Forint currency is used?
A)  Hungary » B)
(C) Guyana D)

ceGLITTEn L pnmmgmg LwerU(HSGID Bm(H 6Tg)?
A) apmGs (B)
©) swrem R (15 )

17

Iceland

Haiti

e Cavamr

Qamiig

SCGS/18
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41. Electroencephalography (EEG) is a study about?

A) Brain
(B) Heart
(C) Lungs
(D) Liver

- crsL_CammQe srCardlyma oiceg e eramug) erangll bl uioruq?
A  apener
B) Qswuwo
/ (C)  mevyuigd

/
L /(D) se6srd

42.  Which year tle Panchsheel was first embodied in a treaty signed by India and China?
(A) 1949 (B). 1945
(©) 1952 ﬁ) 1954
@pHwur Hmith Serr @sEQWIPSHL L LIEHE Fo RUUBSLD cThE e (H 2 (HelTas)?

A) 1949 , (B) 1945
. (©) 1952 D) 1954

43. t is the rain interest of monopolist?
)  Maximization of profit

(B) Maxinization of Commodity
(C)  Perfee: competition

(D)  Constént cost condition

wponflawwmriear waearemwwrear Cpréswd eremen?
Q)  ofsuls @emuid

B) ofsulssrss

©) e owrar Cum’ig.

D) Hevauirer Agee] Hlenea

SCGS/8 | : 18 c.
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A problem with development of Red blood cell called as
(A)  Anemia (B) Polycythemia
) Dyserythropoiesis (D) Yolk sac

Q&5 Slauiy SgmisseT 2 (Heureugled arpuBLD Grsemsufane eumLd unglliL| eretren?
A) enswur B) urdllenesCasBlwm
C)  eLsrsCrmCurglan D) Curs srs

Which year “Come and Play Scheme” was introduced by sports Authority of India?
(A)_ 2009 (B) 2010
2011 (D) 2Q12

@pdwu  eflememum B Gubum @ abmmmm ‘aupgl  ellenemun®” AL S ETHS T
SiflpsLpSEug?

(A) 2009 : (B) 2010

(© 2011 (D) 2012

From where the Zika virus was first identified?

(A) Rat 4 (B) Cat
\ﬂ Monkey 1 (D) Donkey

BlsT eneurav (Wpgedled ermidl b serHluiliu L g?

A) el B) yemer

©) emg D) syos

Reactor in Kalpakkam is

(A)  hydro-carbon reactor

(B)  nuclear fusion reactor
)  breeder reactor

(D)  induction furnace

SOUTEESSH ) S|GLOHSICTET e 2 e
A)  oan Grm-smiue i@ 2 e
B)  EmEsm @amanTe) e 2 M6
©) 2pusd 2-ema

D) gram® SGLY
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"48. The first Indian satellite was launched with the help of '
(A) America ) Russia

(C) Britain (D) France

@pdwreler wpgd QeupamaCardr erhs BT iy en 2 sellujL e CesslLLLgi?
(A)  <=QuflgesT _ (B) : FeigIm
©) GO en (D)  Qymerei

49.  Who initiated operation Blackboard?
(A) . Nehru (B) Indira Gandhi
)  Rajiv Gandhi (D) Narasimha Rao

smbuams HL _sHomar (parGarbhggeur :
(A) G B)  @psyr sp
- (C)  grgdeu & pS (D) mrélibw yrey

\

50. ich article issured equalify before law?
) 14-18 o (B) 19-22
C) 23-24 ‘ (D) 25-28

6TIhS <DL L_GUEMERT FL_L SE6T (LPEIT SIEMETEU(HLD FLOLD meim.img, 2 mHULBHESSHEDS?
A 14-18 B 19-22
(C) 23-24 (D) 25-28

o1, Which Article of the constitution accords special gtatus to the state Jammu and Kashmir?
(A) 356 v(()i 370

© 371 : (D) 350
2rElween Il 6 eThE 2L euemanT QWp-&Tagll(hEE@ Sl ihgevens euLpmidluereng,)?
A) 356 (B) 370
©y 371 B - D) 350
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52.

53.

The state with lowest density of population in Ingja as per 2011 census is
(A) Meghalaya ) Arunachala Pradesh
(C) Nagaland (D) Himachal Pradesh

2011-wpib @@y ar &S QFTms samsdsBldeny. Ns&EmDHS w&sarLESenuwl Clamer @‘mﬁu_l

mrbleotd
(A) Cuwsreowmr B) omamise 97CssD
©) ;r,rra;frcvrr{rbgu_ ; (D) @uwrsse GrCsed
Match the following :

Multi purpose projects’ Rivers

(Dams)
(a) Hirakud 1. Kaveri
(b) Mettur 2. Mahanadi
(¢) Tehri 3. Narmada
(d) Sardar Sarovar 4. Bahirathi
‘K (a) (b) (0) (@
| AT g VR 3

@)X e 2 3 4
©) 1 3 4 2
T 3 2
Epsaa_eupenp CUTBHSSIS :

LOCBTEE S LD 2, MIGET

(e emr)

(a) ebdlprEl 1. sredf
(b) QGuwl@r 2. L&THS
() Qranf 3. DBoes
(d) ergmrsGrmeur 4. urélyd

(a) ®) - (© (d)
A 2 1 4 3
B)., 1 2. 3 4
© 1 3 4 a
D) 4 1 3 2

21 SCGS/18
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54. Math the fo lowing :

List I (Schedules)
(a) Sixthtichedule
(b)  Secont! schedule
©) Twelfth schedule
(d) Fifth schedule

(a) ® (0
A 1 3 4
3B 1 2 5

) 2 3 4

) 2 3 5

Slereupeuana ihennm QUmmEga : -

(a)

(b)

(©

(d)

A)
(B)
©)
D)

SCGS/18

U iquie I

(S L6 ienamraer)

DTG, 5l S|L_L_GUEnH&wRT
QT Teug) SiLLcuenemT
ueefl@ reairL_meug

<9|L_L_GU 50 6uoT

BHSTA 5] L L_6uenamT

[ B N T

List II (Provisions)

Administration and control of scheduled
areas and scheduled tribes

Administration of tribal areas in states of Assam,
Meghalaya, Tripura, Mizoram

Provisions as to the speaker and deputy speaker
of state legislative assemblies

Powers, authority and responsibilities of municipalities

Powers, authority and responsibility of Panchayats.

U igwed IT

(2ybgmiIgET)

é{LL.@JGo@ﬁ LIGE&ET HmID LI G lq ufleri

Bgrer flirursib HHD S G

Sjevavrmd, Gusreowm, Aflypr, BIGsTrD <
wrhlensefar LphiGg e Lgdsmar Blireudlssen
Lbl'l’(l'f;]Gl) FLLLCUreameusellen #LMBTLST WHMID gianemr
FUMBMUST QSTLTLITET D& EISHET

pa;mrﬁé]a;aﬂe%r NG SMIRIGET LHDILD Qurrgjul_;a_;ch

UEhsTLSgIsaflen idlaTymiseT wbmib QurmLIysaT

22 (=




55.

56.

Match the following and choose the correct answer :

Political Parties Leaders

(a) Assam Gana Parishad (AGP) 1 Mulam Singh Yadav

(b) Shiromani Akali Dal (SAD) 2. Uddhav Thackery

(¢) Shiva Sena 3.  Sukhbir Singh Badal

(d) Samajwadi Party (SP) 4 Prafulla Kumar Mahanta
(a) ®  © (d)

A 4 3 2 1

{(B).-3 : 2 1 4

©C) 4 1 2 3

D) 3 1 2 4

sflwrer eflenL eT(LPF)s. »
<l s_& . B@@euiT

(a) <MD sear ufss 1.  @peomwub A wrgel

(b) ACymoef oismed Fembd 2. o2 gze sn&sCr

() HeuGsanr : 3. &6 Ak Lrsd

(d) gwrheury s8 " 4.  Qyyde @GLWTT SBHST
(a) (b) (c) (d)

A 4 3 2 1

B) 3 Z 1 4

©C) 4 1 2 3

D) 3 1 2 4 2

Articles 323 A and 323 B of Indian Constitution deals with

(A)

g

©)
@)

Centre-State Sharing of Financial resources

Empowering Parliament and State legislatures to setup by law, administrative
Tribunals S

Central and State Services
Change in Union and State list

@pdwu sirfluamoiy 69 323 A wpmib 323 B spflumes sapiaig

(A)
B)

©)
(D)

wsHwu-wrile HE SsrrhsmeT UETESED

UTpT@EsLETDLD P  FLamphiEdT Sl Uy Hiferss  STULTLBIG®ET  AMDES
farywaflgse : '

&S HMILD rHlels Lemflsar

wSHW HmID wrBle U iquiesed Lorfrj)g)réw;eh Qg
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57. Which comriission committee recommended language as the basis of reorganisation of

states? g ,
(A Fazl £1i Commission ' (B) Dhar Commission
(C)  JVP Committee (D) Sarkaria Commission

Gumflew igluamLwurs Qsrar® wrflob  @wssond e THS p@ETd @S

2ATETEISSED 5 LAbSIOTESS?
A)  JQuad 6 yemearTwid B) st yemenTwid
(€) JVPew D) srsarilu pemasrwid
58. Pyhlic accounts committee consists of '
K 22 members (B) 20 members
(C) 15 members (D) 45 members

Cung) sama@ & @peder o mGer erameanflsana
A 22 &Q U Qesiaserr B) 202 guleriser
(©) 152 guQariser (D) 452 giGeniser

59.  In which Censtitutional Amendment Act, the parliament sought to check the tendency of
defection (Anti-Defection Law)?

(A) 427 Amendment Act : (B) 44th Amendment Act
(C) 53" Amendment Act Vg I;) 52r Amendment Act

S5 Seud seL§ 8L 1D 6T 7HIic) el Sm&ssdlen apeid Qaream [ eurliul L g)?
(A)  42aug sl g Apssid B) ez sl sHmssd
(© 53 g srp Bmisid (D) 52 qugy o1 Bbaid

60. ~ When was tle first Lok Sabha held its first meefing after its constitution?
(A) 11t May 1952 \Xg)ﬁ 13th May 1952
(©) 15t May 1952 (D) 21st May 1952 -

(PHOTEUF)| LDE HaTen6 a@mé;a;ﬂuLn..‘Qm@ 2SAFE P FLL D erQuUTpg) BenLQuHDE;?
(A) CGuo1l 1952 B) Cuw13, 1952
©C) G185 1952 (D) Gw21,1952
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61.

62.

63.

A Hindu Girls school was opened for the first time in Calcutta in the year
A) 1849 AL B) 1850
(C) 1851 (D) 1852

VB PSS SO&sFTD QUTsEhssTa Qhg LdTafl Ggmmsiul L e
(A) 1849 oA (B) 1850
(C) 1851 ‘ - (D) 1852

Which of the following sultants maintained the newly created department of slaves?
(A) Tltumish '
(B) Allauddin-Khilji -

(C) Giyasudin Tughlaq

\ﬁ Firoz Tughlaq

EsTamiD FOGTensetled oiiq enLoseeT qunrﬂDugg}Qa;e’mgl WL @mﬁ)uﬁlmm &@@{ﬁé@éﬂu@r’r WImi?
A) Qe pHudlev |
B) sereySer fogd
(C)  Hunaden gisens

D) YCymev gisers

Which was the largest administrative division during the Vijayanagara period?
(A) Kottam _ B) adu

(C) Kurram ) Mandalam

eflw pars Cupgéler WslGufw Blireursi Gfley erg)?
(A) GsmliLwbd , B) mrE

©) @b . (D) warLeb

25 ~ ~ SCGS/18
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64. ABCD is a1ectangle and ABE is a triangle whose vertex E lies on CD. If AB= 5 cm and the
area of the triangle is 10 sq.cm, then the perimeter of the rectangle is

4) ldem (B) 15cm
C) 18ck (D) 20cm
ABCD et g @@ Gsasausd wppid ABE erdnp wiGsramgdar E ererp 258 CD-& o drang.
AB=5 Q&1 wpmid wp&Canemré e uriuarey 10 8.0s.8 erafled Qecueusgdan spnareuransg.
(A) 14Qs.8 B) 15Qs.8
(C) 18Qs.8 (D) 20Qs.8

65.  H.C.F of two numbers is 12 and their difference is 12. Find the numbers.

A) 66, 76

®B) 70, 8

(©) 94, 106
) 84, 96

Q@ eramsafln 5.Aum.eu 12 Seupilen elgSunsid 12. eibs eramsmens srars.

A) 66, T&
B) 170, 8
(C) 94, 106
(D) = 84, 96

66. If the ratio of father’s age to son’s age is 4 : 1 and the product of their ages is 196, then ratio
of their ages after 5 years will be

@ 3:1 B) 10:3

\J& 11:4 D) 14:5 |

sheg wHOL wsafler cuwg Nfsb 4:1 CoEib euisdr Qoaflar euwdler QupEE Csmas
196 erefled 5 eu(mLrhis(Emés enanit lauiset @ meuflen auwig) elldls1d

A) 3:1 . B) 10:3 . |
© 11:4 D) 14:5
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67.

68.

69.

70

Find the value of 501 x 505.
(A) 278005 ‘ \o{) 253005
(C) 273005 , (D) 258005
501 x 505 -air Sy Erar. |
(A) 2‘78005 - (B) 253005
(C) 273005 : (D) 258005
The least number of square tiles required to pave a room of size 15 m 17 cm Jong and
9 m 2 cm broad is ’ :
a) 902 ‘ (B) 656
(©) i, 788 ) 814
15 18 17 Q&8 Bamd, 9 18 2 Q.8 Sisebd 2@ w @ Sepuld Caniiu Ceda.w W&&G@DHS
araranilsamsufenar gy eldameaEeT creucIeTey? _ ' ‘
(A) 902 (B) 656
() 1738 : D) 814
Insert the missing number in the given series
5, 10, 13, 26, 29, 58, 61, :
A) - 122 B) 64 .
©) 21 S D) 128.
Qasr@Rasiur_L Qgmfeé eHULL eTaTeeanTs Srewms.
5, 10, 13, 26, 29, 58, 61, : _
A 122 (B) 64
(©) 125 ! D) 128
The L.C.M. of 1/3, 5/6, 2/9, 4/27 is
) 1/54 ' B) 10/27
\ﬁ; 20/3 : (D) None of these
1/3, 5/6, 2/9, 4/27 —en 8.Qum.w .
@A)  1/54 ' B) 10/27
Q) ' .20/8 D) egeSdme
27 | SCGS/18
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71.  Which number should come in the place of the question mark?

11 | 13 |16

5o’ )-8

4 s}

59 | 57 | 56 ‘

O s o 1
) B D 7

' Gésdraﬂé;@gﬁluﬂLL @L & o_erar sflwimar ereis wing)?

11 | 13 | 16
5 4 |3
4 5 ?
59 | 57 | 56

@A 6 § €2))

©€) 8 ® T

72.  An increase of 20% in the price of mangoes énables a person to purchase 4 mangoes less for
- 40. The priee of 15 mangoes before increase was.
A T10 B). T 15

€ 20 D 25

wmbupsdlear elae 20% ofsfsstad emeui 40 EHUTLEG BIENE TDLIDRISET G@®DauTsSSSTer
UThE  piglih  aafld, feaCuinsdiE weramd 15 mbLpkiseiear efllena  eranareurs

Bopdosel.
@A) %10 B) %15
© 208 D) %25

73. ‘}parea of the largest triangle that can be inscribed in a semi-circle of radius 4 cm is
A)

16 cm?2 (B) 32cm?
(C) 64cm: (D) 128 cm?
4 Qe Blierr <yronss QsmerrL SdIeUlL Gl 26 DMbHS BariQufw Ww&Caramsdlen
(W] (TN oY) \
(A) 16 sgi Q5.8 - (B) 328570818
(C) 64sg1 Q5.8 (D) 128 gy Qs.15
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74.

75.

76.

The proposition ~ | (pvq) is equivalent to . /
A) pvq ®) Ipa g

O e b M) pAg

"1 (pvq)eanp sapméE sowrang)

x+1

@ 4 | 'véfs

(A) pvg B “lpr g

s ST AR ¢ D) pAg
Py :

If =4, find the value of x.

© 3 | ® 1
x* -1 =4 crafled x —eir m@ﬁlq SRS

x+1 '
() a5 ®) 5
© 3 | ) L

A can do a certain job in 12 days. B is 60% more efficient than A. How many days does

B alone take to do the same job. -

(A) 6% days (B) 6 days

(© 17days | ,/D)/’ 71 days

A aremuauit g Coumaaw 12 prisalld wpysdprt B eremueir A-g AL 60% Menyeurs .@q_uurrr'r
erafla, 2G5 Caumaanw B gafluns arggemen prisetled @pig iLmm?

.5 S BT e : (B) 6 prlsar

(©) .7 [BTL_&eiT D) 7% priser
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77.  Three men, four women and six children can complete a work in seven days. A women does
double the yrork, a man does and a children does half the work of a man. How many women

algpe can complete this work in 7 days. |
K 7 | |
B) 8

(C) cannct determined ' .

(D)  none >f these

@@ Coumaerw, 3 yams@pd, 4 QuarsEsd wHmb 6 fpais@sd Ceipg 7 priseld Qedig
WPig&EEleTDt 56iT. e Qi yenant 6l GUmLOL k@ Qeiidprar. P Speuen il LTHCamaenw
Qelidlprise. obs Ceumauaw Guansar WAL 7 Brdr Qeudprised aemrd, TESMEN ClLIGTSET
2bs Couanad muw Qelieumiser.

@ 7
B -8
©)  saw®yss apguirsg)

(D) @mmmnmfm DO

78.  Mahalwari 'Tenure system was first introduced i
(A)  Punjeb | v({)l Agra

(C) Madras (D) Bombay

wanaeurfl & euemu wpep s Wsald Feukisil L g) omhiE?
(A  ueEpenls B) <apm
(C) Qseanrar | D) qpoevus

79. }en did the planning commission renamed as NITI Aayog? |
A) 01-01-2015 (B) 11-01-2015
(C) 21-01-2015 (D) 31-01-2015

s Gualtar B8 <,Cuind’ erar erli@uUTpg) QU LTHMLD Qe g?
(A) 01-012015 ' - (B) 11-01-2015
(C) 21-012015 : (D) 31-01-2015
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80.

81.

82.

Demonefisation was announced by Mr. Narendra Modi on
(A)  8th November 2015
)  8th November 2016
(C) 8t November 2017
(D) 1%t December 2017

8. pCrHAT Gomg. jeuirseTTe Liew AL @Qﬁlu eSS L BIeT
A) 8 peubuir 2015
B) 8 meubuir 2016
(©) 8 peaubuir 2017

D) 1gsbur2017

According to the census of 2011, the literacy percentage in Tamilnadu is
A) 80.3 B) 60.3
(G 703 (D) 75.3

2011 <yib e[ serdQsBHfer Lig SOPBTL I so6ll sHmalisafier ellwasTH

A) 80.3 - (B) 60.3
(C) 703 D) 75.3

The Reserve Bank of India has the sole right to issue bank notes of all denomination under
the Section of RBI Act. -

A 2 ® 23

© 24 D) 26

@pHwu emww eumd el T Lilg GnLDWI QJFEJEE]BS@" GTEOAT CUENSGILITET LIGwT
Crm’_(paamenybd QaiafluliGib sefllAupb HFsTID 2 drerg.

@ 22 ®) 23

(©) 24 (D) 26
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83.  The first person who produced induced mutation was

(A)  Hugo De Vries (B),, T.H. Morgan
(C) Mend:l \,{)A H.J. Muller
grar Ul L Sllef IHDS®S PS5 LSS weurt

Q)  afuwCsrig. effav B) g eré&. wTTGHEN
(C) Quemr _ed ' (D) er& Qg apadevr

84.  Most of the ¢nergy during aerobic respiration is produced by the
)  Election transport chain
(B)  Glycolysis
(C) Kreb’s cycle

(D)  Pyruvic acid 6xidation

aTHNF seung 550 ACHs arey HHme @ 2 HusH el ns.
A) sl pren sLSse shidled
B)  @aflly Gergge
(O) HQpd sppd
D) UGS Sifle selnCarpmid

85.  Aquatic plents lost most of their metabolic wastes by in their
surroundings.

(A)  Evaporation
(B)  Comkine with ions and precipitation
) Diree: diffusion

(D)  Periolic removal as their parts fall off

Bireumps smupbiser. swg <CHs auemiflens WwTHDS seysmar )
Sleupler s piLpSHd QsSps. .

A eeluirsd apad

(B) Awes@pLar Ceibg) erfleugen epaid

(C) Ggf,mq_lurrm LITeue @b _

D) sre @lo_Geuafuder ieunidlen Linshiser &ECup el (euge epald
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" 86.

87. -

v

(B) pH at which all the functional groups are protonated

88.

Oxidation number of Mn in KMnOy is

@ 6 | ‘4

© 5 D)

KMnOy -é Mn -ér ,58gCambm eresr eramuig)

@A) 6 B)
© 5 - D

The isoelectric point of an amino acid is the

(C)  same as the pka for that acid

(D)  all of the above

20 Carm BlewsSe 2 arer LG eTedLM& Ljear]

A)  WDerapeners a;mf'ri;eﬂuﬁisb‘r Curg pH-é ethg paireyd FhuBeus @dame
(B) pH siomaisg dlaman Qewd Ggm@dlsend yGrmlLrer-ghmbd Qumb

(C) sfasder pka-ar L @eammrs QmHEGSD

D) <warsgid

Which is used as moderator?

(4. H0 vﬂ{

© T0 D)

WBgomsdwinrs LweruHeug)?

a) H0 L ®

€ T0 D)

33

pH at which no net migration occurs during electrophoresis

D,0
H,0,

D,O

H,0,

SCGS/18
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89. \?Which age group, “National Sports Talent Search Scheme” has been formulated?
A)

8 — 12 years (B) 13 -17 years
(C) 18-—-122years (D) 23 —27 years
“Cslwu  aflmerwm_(H Smenio Gg;l_d) gL’ earug  eps  ewg Gfclarmssns
PopUBHSSLILLL &1?
Q) 8-12 seaw@pser B) 13 -17 gyaw@ser
C) 18 =122 syan@adr (D) 23— 27 syem@sdr

90.  In which duration Indian Navy hosted Multinational Exercise MILAN-18 at Port Blair in
}daman and Nicobar Islands?
A)  March 6 to 13, 2018
(B) Febrnaary 13 to 20, 2018

(C) Febrary 20 to 27, 2018
(D) Mareh 13 to 20, 2018

Sipsoren BSsmunt Seysedr, Cumi 19Camwufd ;_r,em.@u,r_r)r,r) ‘bererm_(H LWiHé L&G\)m 1876 @bHuw
sLpueL e ICuTg LkiE QubHDE?

(A) 2018, wid 6 s 13 cuany

B) 2018 WGuyeufl 13 wpse 20 euany
(C) 2018, Quyeu 20 wse 27 eueny
(D) 2018, wmit& 13 apsed 20 eueny

91. When is “Claumi Ekta Week” (National Integration Week) observed all over the country
every year?

(A) 29t ()ct. to 4th Nov

(B) 5t Nov. to 11th Nov.

(C) 12t Nov. to 18tk Nov.
) 19th Nov. to 25t Nov.

eruGung BIH Wb ederm YamHL “Gaums g&s eumpn” (Csdlu RHBISlenenTLIL] eumLD)
CrrésiuBélng ?

A) =868 _mui 29 wpged HeubLiT 4 euenry

B)  peubdlit 5 apsed peubui 11 euany

(©)  peublii 12 apsed BeulbLIT 18 eueniy

D)  peudlir 19 apsed peubLit 25 euaniy
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92.

On which day the Government of India announced the High Denomination bank notes of
Rs. 500 and Rs. 1000 expired?

A) 8% November, 2016
(B) 9% November, 2016
(C) 10tk November, 2016
(D) 11tk November, 2016

g Brafld 2 wifloew Qbdlapan aumdsEdiysar ug . 500 wpmb . 1000 Cpri@ser
Byrafssiin@eisns @b irsmmsd ADeNS5ss?. '

(A) 2016 <yib e peubLiT 8

(B) 2016 <=y,b yer(h) HeutbLim 9

(C) 2016 <y e Heubuir 10

(D) 2016 <yib e peubuill v

93. JIn/'hich country, the “World’s oldest boarding school” established in 1567?
A) :

94.

England _ (B) India
(C) America (D) . German

1567 <ytb par(H), 2-edlem LSLILIPELOWITET ShiEGLD LieTaf 6Tmhi@ Hipeulul L g? -

@) @ruderpg | B) @pHur
C) <=Qui&sT : (D) Qg

When was the Goods and service tax introduced?
(A)_ 1t June 2017

\,6 1st July 2017

(C)  1st August 2017
(D)  1st September 2017

&78&@ wHmib Ceaeu aulfl eriCGurg SiMPsLLESSILILL&?
A) 2017 g®ar1l

B) 2017 m9ame 1

(C) 2017 ysav1

D) 2017 Qeuubuirl
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95 The value ef escape velocity in the earth is

(A 1.12 km/s @) 11.2mis

) 11.2 km/s D) 1.12m/s
yedlulle el L@ HansCoussden mﬁuﬁﬁm@ 9 GLD.
(A) 1.12 km/s B) 11.2m/s
(C) 11.2 km/s ' (D) 1.12m/s

96. The ggt WOJ '’k done by the forces acting on a body“is equal to the change in its
Kine'ic energy |
(B)  Potential energy
(C) Kine:ic energy and potential energy
(D) Momentum

@@ dunpatler Gswou@b elossared QewtL@n Har Couama 2FeT Sp&seTL Liewrde ghu@ib
LIHDSHHE F FL0D

@) Qués ppd

®)  Peoaumppe

©)  Qués dpped HmIbd Haawmhod

D) =m0

97.  In an optieel fiber communication, the light is guided through the fiber by the principle of
(A) refraction
(B)  diffraction
(C)  dispersion

\/()\ total internal reflection

eofl @aips ssaid Asmi9d efurens Gaipsseing o aufGL SI@ILILILEDL SégaLD
Q)  geflelesd

B)  elafliry efenerey

©  gofit Gfens

D) »pw sisadAyrediy
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98.

99.

100.

Which is the 7t busiest Airport in Asia?
(A)  Mumbai
(B) Bengaluru

VO { Delhi

D) A Chennai

g Flwredlen erpmeug) LipurliLTen ellomer Blenawid 6rg)?

A  @weu
B) Qumisenm
©) e

D) Qoenener

ich year the stethoscope was invented?
) 1816 (B)

© 1915 (D)
@ gTavCaTL eThS amT(H Heir (B ssiulLg?
(A) 1816 ; B)
(€) 1915 | D)

1818
1918

1818
1918

For which game Mr. Anish won the gold medal in Junior world cup during the year

March 2018?
(A) 10 meter Air Pistol
(B) . 100 meter Rapid fire pistol

M 25 meter rapid fire pistol

(D) 20 meter rapid fire pistol

wmig 2018-@é “r_asm_Qu.,rbrrr) ahs elemarum R&srar grallur 2 oss Garlamuuid  ieafle

SBISLILSESD GeuemmmiT?

A) 10 8L gt Gaidred

B) 100 B Cral epuiwim AevL_ed
(C) 2580 L CraL epLwiir 9evLéd
(D) 00 B it CmaL epuw GevL_ed
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